Math 151 - Quiz 7 Name __Key
April 6, 2016 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) List all possible rational zeros of p(z) = 5z + 5x + 8.
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2. (3 points) Completely factor:  2z% — 22 —z.

W (ax-x-1) = L(Qx ».\MX \)]

3. (5 points) List all possible rational zeros of q(z) = 3z*+ 7z* — 132% — 23z — 6. Then use
your graphing calculator to rule out all but four of the possible rational zeros. Finally,
choose any one of the remaining four possibilities and use synthetic division to show
you have actually found a zero.
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